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Rural Livelihoods 

Q1. Compare the situation of Sekar and Ramalingam by filling out the 

following table: 

 SEKAR RAMALINGAM 

Land 

cultivated 

  

Labour required   

Loans required   

Selling of harvest   

Other work done by 

them 

  

 

Ans.  
 

 SEKAR RAMALINGAM 

Land 

cultivated 

  

Labour required   

Loans required   

Selling of harvest   

Other work done by 

them 
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Q1. Compare the situation of Sekar and Ramalingam by filling out the 
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 SEKAR RAMALINGAM 

Land 

cultivated 

  

Labour required   

Loans required   

Selling of harvest   

Other work done by 

them 

  

 

Ans.  
 

 SEKAR RAMALINGAM 

Land 

cultivated 

2 acres 20 acres 

Labour required No, labour required Labour required 

Loans required He needs loan for 

seeds, pesticides and 

fertilizers. He takes 

loan from traders. 

He takes loan from 

bank to run his rice 

mill. 

Selling of harvest He sells few bag of 

paddy that he 

produces to the 

traders as loan 

repayment. 

He uses his produce in 

his rice mill and sells 

the rice to traders in 

nearby towns. 

Other work done by 

them 

He has a hybrid cow. 

He sells milk to the 

local milk 

cooperatives. 

He has a rice mill and 

a shop selling seeds, 

pesticides etc. 

 


